Which of the following sports does NOT have its apex national governing body
headquartered in New Delhi?
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1. Badminton Association of India ' :
2. Volleyball Federation of India i)
3. Athletes Federation of India
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What was the rural literacy rate in India, according to the 2011 Census?
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B Which of the following places of India can have maximum

temperature difference between the day and night?
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1. Jaisalmer 1.ATAHT

2. Kanyakumari 2, rumr-ﬁ
3. Thiruvananthapuram 3. ﬁ-'l'&lm
4. Port Blair 4. & s AT

Which Rajput princess belonged to the Bhakti tradition of Medieval India, whose
songs were devoted to Lord Krishna?

Fld W TEYT TTFAN ALAFTNGT AR F swfFa Wy & gaoa o,

fora® Mg soram agwr & gAT 97 1

1. Muddupalani

2. Akka Mahadevi E';f%UT HIRXA
3. Mirabai
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Behind the cornea, there is a dark muscular structure called the
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1. retina
2. pupil
3.iris

4. lens
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Identify whether the given statements about ionisation energy are correct or incorrect.
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Statement A: The ionisation energy of an atom is the amount of energy that is required to remove
an electron from a mole of atoms in the gas phase.

Statement B: The ionisation energy increases from top to bottom in groups and decreases from
left to right across a period.
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1. Only Statement B is correct

2. Only Statement A is correct

3. Both Statements A and B are correct
4. Both Statements A and B are incorrect
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The Sino-Indian border is divided into how many sectors?
sa-dYer €YAT ) fras S & arer Tang?

—— Dhisputed border
B Oisputed terilory

Mo dnfime: Aksal Chin
boundary Adwinstnred by Ghing

B WNR
W baeuN

New Dathi -m

forat & feras e NDTA




B The Lucknow Pact was signed in by Congress and the Muslim League to
work in alliance for representative government.
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Which among the following generations of Computer used vacuum tubes?
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states that the rates of diffusion of gases are inversely proportional to

the square roots of their densities under similar conditions of temperature and
pressure.
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1. Graham's Law
2. Tyndall's Law

Kepler's Laws,

3. Pascal's Law First Law Second Law Third Law
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Which of the following is the autobiography of the first Indian President Dr. Rajendra

@ Prasad?
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1. A Shot at History

2. My Country My Life
3. Atmakatha

4. Atmavrittanta
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2. AT EU AW SHaed =) ST FOOT HTSATON
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4. A
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Becoming - fAier ariamAT

Straight from my heart - <1 29

Unbreakable - 2t chie

Playing to win - ITa=T AgaTd

Which of the following statements is correct regarding the demand curve?
. It is a graphical representation of the demand function.
Il. It gives the quantity demanded by the consumer at each price.
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1. Neither I nor ll
2.Bothland il
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Which among the following is the oldgslt_sjgcli_g_xg_l_g_ng_g in India?
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1. Multi-Commodity Exchange

2. Bombay Stock Exchange —p 1875, UH<g IS
3. National Stock Exchange == 1992

4. National Commodity and Derivatives Exchange

i During Which phase of the cell cycle does metabolic changes assemble the
cytoplasmic material required for mitosis and cytokinesis?
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1. G2 phase 1. G2 90T
2. G1 phase 2. G1 90T
3. M phase 3. TH 0T
4. S phase 4. TH 9T

G1 - Growth

S - DNA synthesis

G2 - Growth and
preparation for
mitosis

M - Mitosis

(cell division)

B Identify an anomaly element that belongs to both group 1 and group 17.
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Which element of the boron family has a high boiling point, making it ideal for
recording temperatures that would vaporise a thermometer?
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1. Indium 1. §vH
2. Thallium 2. dfogw

3. Aluminium 3. WegHAIAaOw
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4. Gallium 4. AMoaTw
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m In which year Timur’s invasion of Delhi took place?
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B Which of the following policy measures is a step towards liberalisation?
frafaf@a & & st a1 Afdera surw sgrfiazor f R & v Fea 2

1. Enhancing tariffs

2. Eliminating licenses for importing a majority of goods

3. Increasing requirements for bank reserves and restrictions on interest rates
4. Imposing limits on capital accumulation
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Expenditure of the government on health facilities, education and fixed-asset
acquisition is termed as
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1. revenue expenditure 1. 9T =99

2. non-plan revenue expenditure 2. ﬂ'{'me‘rmm {ISFT =49
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@ Acco o Census of India 2011, identify the third largest spoken language in
India.
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1. Marathi 1. AE 1. 84} (48.63%)

2. Tamil 2. g 2, STTeAt (8.08%)

3. Bengali 3. |aTelY 3. 77T (6.86%)

4. Hindi 4. fg=dy ' ;
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c A. UN has declared 2024 as the International Year of
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1. Millets w=p 2023
2. Camelids

3. Leopard
4. Artificial Intelligenc
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